3.11 - 3.14 Warm up

1) Determine the direction angle for the vector with initial point A(4, -6) and terminal

point B(-3, 5). Sketch the vector and angle -~ /-
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2) Determine the vector with a direction angle of 225° and a magnitude of 18. Write
your answer in BOTH component form and as a linear combination. Sketch the
vector and angle
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3) Determine the direction angle and magnitude for the vector -2i + 7]
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4) Given vector v =<7, -2> and vector u = < 4, 6>
> Determine 5u-2v Sw = 420,357
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> Determine -v+ 3u
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